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X1 <- c(2,2,1,1,3,4,5,5,7,6,4,3,6,6,8,9,10,9,4,4)
X2 <- c(4,4,4,3,6,6,3,4,3,3,5,5,9,8,6,7,5,5,7,7)
Y <- ¢(2,1,1,1,5,4,7,6,7,8,3,3,6,6,10,9,6,6,9,10)
reg <- 1m(Y~X1+X2)

#reg

summary (reg)
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Call:
Im(formula = Y ~ X1 + X2)

Residuals:
Min 1Q Median 3Q Max
-2.8406 -1.4416 -0.9952 1.2632 4.4350

Coefficients:
Estimate Std. Error t value Pr(>|tl)
(Intercept) 0.1026 1.6602 0.062 0.95146
X1 0.6771 0.1953 3.467 0.00295 *x
X2 0.3934 0.2949 1.334 0.19971
Signif. codes: O “*%x’ 0.001 ‘xx’ 0.01 ‘x> 0.05 “.” 0.1 ¢ > 1

Residual standard error: 2.191 on 17 degrees of freedom
Multiple R-squared: 0.5054, Adjusted R-squared: 0.4472
F-statistic: 8.686 on 2 and 17 DF, p-value: 0.002519
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Sample Quantiles

kurtosis = 0.22 (gaussian)

Theoretical Quantiles




